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I Analysis of end of mwn — repetition of rule that 211 is considered the whole jn'o
a  ~7Dn ‘7 solution — one is referring to 0, the other to DwTp
i Justification: if we only learned p%n, we would think that 0w7p, where the o7 is needed (for 7"n71) — need full o
1 And: if we only learned o'w1p, we would think that in re 151, blood is not needed — part is enough — %"np
ii  identification: first passage refers to 1N and second (X9'D) to DWTP
1 a2 77 if 1t clause were wwTp, should say ponn
(a) Challenge: if >0 is »WTp, should say nw3 MpP*Hn
(b) Defense: ®a>0 last mentions nnn3, so it addresses no'nw; v first mentions 9y, should say ponn > QED
2 oww 1200w 7. RN refers to 9w TNR; if it were DwTp, it would have to list 2 (for myn nvy)
(a) Challenge: if ®9>0 is »WTp, should also list 2w 211 for qyn oy
(b) Defense: Tn® 211 means “majority of each one (needed)”; if nkon — 1; if Ny -2
(i) And:since it isn’t one measure, they left the language equivocal
3 977 RWNM is POIN; since 1327/ disagree about need for cutting veins — but in »w7p, must be cut (»"3%) for ot
4 x71 R0 is VTP, from 2 MWnN - slaughtering 2 heads at once is only valid Tay77a
(a) And: that restriction only applies to 0w7Tp, per 9oV "v's interpretation of v. 1 (read last word as 3nnan)
5 57w rovis WP, per his application of the Xa’v to the validity of a 7nn whose no'nw isn’t fully completed
(a) Note: context is the 2" 103 completing the nv'nw of the 7nn on 2”7y, when the 313 must perform all mmay
(i) Challenge: how could finishing be 20yn? — that would involve an nmay done by another jn3
(ii) Answer: R"10 that there is a v 04 if he doesn’t complete it — 9"np from X9’ — W) even ©™N
I Dispute »/9"av regarding “point” of nv’nw — only at end (% Dwa %”"av") or throughout process (1311 ")
a  Scope of disagreement (827): they agree if 1 100 was cut by ", or 1 120 of 910 Ny was cut below — invalid
i Reason: an act of npYn/nvNY was done improperly
ii ~ But: they disagree in case one 1’0 (of 12p) was cut outside, and the other inside — whether liable for yn 0w
iii =~ Challenge: qov 11 limited disagreement — and all agree in that case that he is liable
1  Reason: that is the full act done for q3yn nron (1 11'0)
iv. Rather (901 27): disagreement is if he cut <50% of 1’0 outside then finished inside
b Challenge (X711 *1to 211 *7's position): 7:7 ma - those involved with ma from beginning to end generate 731 nrkmv
i Therefore: if it became 00 during nv'nw — at any point, not 0712 RNV (of LMWYN 11)
ii ~ And: if it became 08 during D70 nrtn — only the one involved after 9109 is “spared” from D 12 NRMY
iii  Argument: if nonY is an ongoing process, should distinguish between Y108 happening before or after
1 Defense (x¥37): if the no'nw became 9109, that proves (retroactively) that the nv'nw was never good
¢ Challenge (N¥27to 5™'s position): if nonw is only at end, 1:7 n19 should note that if N1 is slaughtered by two people, only
last one should be xnv
i Block (9o1 27): 2 may not slaughter one ma, per vv. 1-2
ii  Defense (»7a8): 1anv " identified that ruling as being per w”ar, but 1327 rule that two may slaughter 1 127p
1  And: even for w"ary, if the vmw changed scarves in the middle, only second should be &nv
2 Rather: mwn is only focused on impact of M %109 on D132 NRMY, not on properly prepared N1
d  Challenge (pan 72 & 27): if he slaughtered a nova during n”mn while owning ynn (vis-a-vis yan 5» nam x5...)
i s exempt from violation (as 1nra RO WYY is invalid)
ii  1ows NOSw: liable — it is a valid ondw
1 Implication: if he slaughtered onv, it'd be considered w5 and he’d be exempt
2 Conclusion: noa during the rest of the year (not 1) requires an active redesignation
(a) Rejection: perhaps in this case the owners were n"v, and this animal was still fit for "nw%” on »w noa
(b) Argument: if no'nw is an ongoing process, it was already invalid at the beginning > exempt
(i) But: if no'nw is only at end; once he slaughtered, should be invalid for nog, then the nv'nw is valid for
005w and he should be liable
(if) Rejection (»ax): even though it was rejected as a noa itself, it could have been redeemed for noa ’n7T
1. And: that can even happen after nv'nw, while it is noa1an
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I nyman nonw —whether nv'nw must be a single cut
a 37 if one slaughters in 2 or 3 places — valid
b Sxww (when he heard this from 77777 27): that isn’t nyman nonw, which is required
i Support: 9"2w1 also requires nyman nYNw per v. 3 (comparing NV’NY to an arrow)
ii ~ Challenge (7rv58 77): 2:1 P9n — if two are holding a knife, even one above and the other below — valid nvnw
1 Defense (707 77): that mwn is referring to two people holding one (double-handled) knife = nyman nonw
2 Challenge (Nax *7): rest of n1wn — we aren’t concerned that they will generate N9 for each other’s half
(a) But: if it is one knife — should be Y0117 XnW PYWVIN PR
(b) Defense (xax 77): there is such a version of the mwn — nr 5y N1 1D ROV PYVIN PR
iii ~Challenge (pax 73): ruling that if he slaughters the mp in one spot and the YW1 in another — valid
1 Defense (pan *1 himself): case is where he slaughters like a quill — on a diagonal slant (still nyman)
¢ Story: HYRNW 11 pny’ " ate from an animal that was slaughtered (per 17) in several places
i Reaction (¥7r 77): this teaches us that 2:1 is referring to two people holding two knives
IV Tangential discussion re: n7on
a 2t if he stuck the knife in between nnv and cut — invalid
i But:if he put it under the skin and cut - valid
ii ~ Challenge: this is already taught — (ahead 7 mwn) — if he put the knife under the 2" ;>0 and cut - invalid
1 Note: dispute 22w "/p™ if it is a 1921 or N9V (see ahead for discussion)
iii ~Defense: in that case, the knife was under the jn°0; we may have thought that if it was above the 1n’p, not a problem
of N7 since he is cutting in the usual direction of nVNY — 5"np
iv  Note: in that report of 27 (cited by nm 21), under the skin was valid
1 But: 11712 were not sure if it was valid
v Query: according to 2103, if he cut under a towel (on the animal’s throat) or in tangled wool — is it n79n? — 0
vi  Query (97): if he did n79Nn on a minority of the 1m0 (i.e. after 211 was cut) —is it nT5n? - ypon
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